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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
12

Marks

MCQ
630680330436
6306801285415
6306801285416
6306801285413
6306801285414
Answered

2

Q.2 G@reiier g fasearef ereg; sitea

SRTSTh

Ans X 1. 3WEY
X 2. J@EER
X 3. S
o 4. G

Question Type :
: 630680330426
Option 11D :

Question ID

Option 2 ID

Option 4 ID

McQ

6306801285373

: 6306801285376
Option 31D :

6306801285375

1 6306801285374
Status :
Chosen Option :
Marks :

Answered
4
2

Q.3 WIelieT AEMAT THI Siiar.

Ans X 1. gelie! @A
X 2. IgRY g9
X 3. srezftre T
o 4. T

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

McQ
630680330429
6306801285387
6306801285388
6306801285385
6306801285386
Answered

1

0




Q.4 Wrefie rsgT=T 372 |,

aMmer
Ans 1. EDH
X 2.1
X 3. foch
K 4. rdar
Question Type : MCQ
Question ID : 630680330420
Option 11D : 6306801285350
Option 21D : 6306801285351
Option 31D : 6306801285349
Option 41D : 6306801285352
Status : Answered
Chosen Option : 1
Marks : 2
Q.5 w@refiet 2regraT 3ref wivm.
STER0T
Ans o 1. TdH
X 2. smard
X 3.u™
X 4. s
Question Type : MCQ
Question ID : 630680330421
Option 11D : 6306801285353
Option 21D : 6306801285354
Option 31D : 6306801285356
Option 4 ID : 6306801285355
Status : Answered
Chosen Option: 1
Marks : 2
Q.6 ‘A< IFTOY T AETATT ATeRITd ITANT FTeiet WieileTdeh! g e sitesar.
Ans X 1. UcTR el TR g uTeh e AR e G SIS Hd ehideh ehe.
X 2. IRAM farsaees Sieearar fehdhe it qewr g STeaiy Shel.
X 3. AT HUETAT STaH! YhdTe STS e g geRel Hhisdl.
o 4. TEATHATUSHI TR AGH AT dTa aIaTe Tqe TIeTo e,
Question Type : MCQ
Question ID : 630680330435
Option 11D : 6306801285409
Option 21D : 6306801285410
Option 31D : 6306801285412
Option 41D : 6306801285411
Status : Answered
Chosen Option : 4
Marks : 2




Q.7 ‘@t § et wivft de?

Ans X 1. RUIGHR folames
o 2. OS2
X 3. fRrarsht grda
X 4. fasm agaR
Question Type : MCQ
Question ID : 630680330441
Option 11D : 6306801285433
Option 21D : 6306801285434
Option 31D : 6306801285436
Option 41D : 6306801285435
Status : Answered
Chosen Option: 2
Marks : 2
Q.8 Wreliel arerTeltet TahT siteswar.
uT foheT uehea.
Ans o 1. e T
& 2. qR7o7 HHOR
X 3. 9 g
X 4. wHoft mwr
Question Type : MCQ
Question ID : 630680330422
Option 11D : 6306801285358
Option 21D : 6306801285360
Option 31D : 6306801285357
Option 41D : 6306801285359
Status : Answered
Chosen Option: 1
Marks : 2
Q.9 ‘ABUTITHY 3INT AXAhIA STt IT AETAUTAT ATeRITd ITANT AT Wiefterdeh! Ty faen siiear.
Ans X 1. IERIGHET Al AN ShesdTd id! TaUTaT ST ALehTd et
X 2. geTeAT U ShHfehTdl ITqHT U TS qauTaTe ST HEAhId Tefl.
X 3. fAereT sedt fResredt snfor @t qesurart ST AR e,
o 4. AR U= STATEIRI=AT ST AT HISH JSUTT 3T HehId Sid.
Question Type : MCQ
Question ID : 630680330434
Option 11D : 6306801285407
Option 21D : 6306801285406
Option 31D : 6306801285408
Option 41D : 6306801285405
Status : Answered
Chosen Option : 4
Marks : 2




Q.10 Erefiet wgofl=m gt aref sitear.

ot ge5e 4TfoT g1 M.
Ans X 1. &M B TR, ATATS WA fHede.

o 2. UG ATl SATTSYVIT HUL.
X 3. ST Tt ARETIHIO STl e fHed.
K 4. FoTaTg MEET $ifcRes siTaesult uedl, I g@: ared ATg.

Question Type :
Question ID :

Option 11D

Status

Marks

McQ
630680330432

: 6306801285399
Option 21D :
Option 31D :
Option 41D :

6306801285400
6306801285398
6306801285397

: Answered
Chosen Option :
12

2

Q.11

Ans

@refiet AT gty 3 siteswEr.

aof

Ko1.aR
o 2.
X 3. %%
X 4w

Question Type :
Question ID :
Option 11D :

Option 2 ID

Status

Marks

MCQ
630680330437
6306801285419

: 6306801285418
Option 31D :
Option 41D :

6306801285420
6306801285417

: Answered
Chosen Option :
12

2

Q.12 @refiet reerE faRmeameff e sitear.

Ans

T

X 1.9+

W 2. 31T
X 3. &SR

X 4. geaten

Question Type :
1 630680330427
Option 11D :

Question ID

Option 2 ID

McaQ

6306801285377

1 6306801285379
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

6306801285378
6306801285380
Answered

2

2




Q.13 @refiet reETar IH Sitesar.

RUTY<h
Ans X 1. sregdtame gET
X 2. Zgwag
X 3. agelier e
¥ 4. TS IHAT
Question Type : MCQ
Question ID : 630680330430
Option 11D : 6306801285392
Option 21D : 6306801285389
Option 31D : 6306801285390
Option 41D : 6306801285391
Status : Answered
Chosen Option : 4
Marks : 2
Q.14 ‘wfafa g snerafs wivh A
Ans X 1. TifeTE gt
X 2. 3oTSiid &ETs
X 3. frarsht rea
o 4. eSS e
Question Type : MCQ
Question ID : 630680330439
Option 11D : 6306801285428
Option 21D : 6306801285425
Option 31D : 6306801285427
Option 41D : 6306801285426
Status : Answered
Chosen Option : 4
Marks : 2
Q.15 Erefter wgouflam gt aref s,
foera fad farema =gl
Ans X 1. JiSFTeR FmEo.
o 2. TR TMETR feharr cohiel He e @aTfehi=T aed rgl.
X 3. g1 AT YT Heed ated ATgl.
X A GeheHT TGN WYY HIIST e GO,
Question Type : MCQ
Question ID : 630680330431
Option 11D : 6306801285394
Option 21D : 6306801285393
Option 31D : 6306801285395
Option 41D : 6306801285396
Status : Answered
Chosen Option : 2
Marks : 2




Q.16 'FWITS' § ATAR wivh fode?
Ans X 1.9 9. 3R

X 2.ga.3HE
o 3. TAGATT TegToT
X 4. frarsht grea
Question Type : MCQ
Question ID : 630680330440
Option 11D : 6306801285431
Option 2 1D : 6306801285430
Option 31D : 6306801285432
Option 4 1D : 6306801285429
Status : Answered
Chosen Option: 3
Marks : 2
Q.17 @l arerTeiie walhT sitearn
TFETehgH AT GhaSeT el
Ans X 1. Hft mRr
& 2. QR7o7 SRR
X 3. gHTU Rl pam
ag 4. 7 el
Question Type : MCQ
Question ID : 630680330423
Option 11D : 6306801285361
Option 21D : 6306801285362
Option 3 1D : 6306801285364
Option 41D : 6306801285363
Status : Answered
Chosen Option : 4
Marks : 2
Q.18 w@Tefiet eregTaT THETA 2reg sitewEr.
s
Ans o 1. TR
X 2. FAad
25 3. el
X 4 Ty
Question Type : MCQ
Question ID : 630680330424
Option 11D : 6306801285368
Option 21D : 6306801285366
Option 31D : 6306801285367
Option 4 1D : 6306801285365
Status : Answered
Chosen Option: 1
Marks : 2




Q.19 @refiet reer=n gty 3ref i,

@foT
Ans X 1.@s
X 2. em
X 3. HBR
o 4. TSR
Question Type : MCQ
Question ID : 630680330438
Option 11D : 6306801285421
Option 21D : 6306801285422
Option 31D : 6306801285423
Option 41D : 6306801285424
Status : Answered
Chosen Option : 4
Marks : 2
Q.20 ‘a9 ARO'TT ATRTERET avyg 3 s,
Ans X 1. THe g0,
X 2. mafer At
o 3. R @
5 4. foR 7 ot Siero..
Question Type : MCQ
Question ID : 630680330433
Option 11D : 6306801285403
Option 21D : 6306801285404
Option 31D : 6306801285402
Option 41D : 6306801285401
Status : Answered
Chosen Option: 3
Marks : 2
Q.21 Erefie RIS arerar gieprTedT arerra Tuidr daet gl R sieaEr.
AT IR gaeh AT,
Ans X 1. fondt ScTaTaeR Smg gl
s 2. VG SISTEER gadh 38
X 3. g ITETEER 378 12
X 4. fendt STaTeER g el
Question Type : MCQ
Question ID : 630680330417
Option 11D : 6306801285340
Option 21D : 6306801285338
Option 31D : 6306801285337
Option 41D : 6306801285339
Status : Answered
Chosen Option : 2
Marks : 2




Q.22 @reitemsTT arerma sraTeff areTa FuieR e g e sitear.
3r=t, =FATAT ST hRafier?
Ans X 1. 3r=fl, Tiirer srear deefiet @R ur giefier.
o 2. ST, ST 1T R
X 3. a1t e SreaTy e,
X 4. 3=, faelt =Tt STvame !

Option 11D

Status

Marks

Question Type :
Question ID :

McQ
630680330418

: 6306801285343
Option 21D :
Option 31D :
Option 41D :

6306801285341
6306801285344
6306801285342

: Answered
Chosen Option :
12

2

Q.23 @Tefier reaTar T 2reg Sttesar.
e
Ans X 1.t
o 2.
K 3.9m
X 4.3E

Option 2 ID

Status

Marks

Question Type :
Question ID :
Option 11D :

MCQ
630680330425
6306801285370

: 6306801285369
Option 31D :
Option 41D :

6306801285371
6306801285372

: Answered
Chosen Option :
12

2

Q.24 @Tefe aTeTeT UehR e,
TeATeRTSS! STTSilaT fA=ialad fORrae antd Sirard feher d@feRra siara.
Ans X 1. Gohareffaram
X 2. hadar
o 3. TgFIaTH
X 4. saEmg

Question ID

Option 2 ID

Chosen Option

Question Type :
: 630680330419
Option 11D :

McQ

6306801285347

: 6306801285345
Option 31D :
Option 41D :

Status :
03
Marks :

6306801285348
6306801285346
Answered

2




Q.25 @refiet reaTan faReeareff e siteat.

J=
Ans X 1.3&
¥ 2. 3R
X 3. %
X 4. 3T
Question Type : MCQ
Question ID : 630680330428
Option 11D : 6306801285383
Option 2 1D : 6306801285384
Option 3 1D : 6306801285381
Option 4 1D : 6306801285382
Status : Answered
Chosen Option : 2
Marks : 2
Section : English Language
Q.1 The given sentence has an error. Select the option that rectifies the error.
If she had known him to be a bully, she might not marry him.
Ans 4 1.If she had known him to be a bully, she may not have married him.
5 2. 1f she had known him to be a bully, she had not married him.
/X 3.If she had known him to be a bully, she would not marry him.
X 4. 1f she had known him to be a bully, she should not marry him.
Question Type : MCQ
Question ID : 630680277577
Option 11D : 6306801078740
Option 2 1D : 6306801078737
Option 31D : 6306801078738
Option 41D : 6306801078739
Status : Answered
Chosen Option : 3
Marks : 0
Q.2 Fill the appropriate punctuation mark in the blank space to complete the sentence
meaningfully.
Student council elections were held every year.
Ans X 1. Student’s council elections were held every year.
&# 2. No change
/X 3. Students- council elections were held every year.
/X 4. Student”s council elections were held every year.
Question Type : MCQ
Question ID : 630680278100
Option 11D : 6306801080758
Option 2 1D : 6306801080760
Option 31D : 6306801080759
Option 4 1D : 6306801080757
Status : Answered
Chosen Option : 2
Marks : 2




Q.3 Select the most appropriate article to fill in the blank. If no article is required, select ‘No
article’.

I enjoyed ___ December of 2020.

Ans X 1.No article
X 2.a
o 3. the
X 4.an
Question Type : MCQ
Question ID : 630680274559
Option 11D : 6306801066750
Option 2 1D : 6306801066747
Option 31D : 6306801066749
Option 4 1D : 6306801066748
Status : Answered
Chosen Option: 3
Marks : 2
Q.4 Select the most appropriate adverb to fill in the blank.
She completed the puzzle , showcasing her problem-solving skills.
Ans X 1.haphazardly
o 2. methodically
X 3. reluctantly
X 4. slowly
Question Type : MCQ
Question ID : 630680252155
Option 11D : 630680978600
Option 21D : 630680978601
Option 31D : 630680978602
Option 41D : 630680978599
Status : Answered
Chosen Option : 3
Marks : 0

Q.5 Part of the given sentence that has been underlined contains an error. Select the option that
rectifies the error.

Ravi will emailed you the complete information by the end of the day.
2 1. will have been emailed

Ans
o 2. will email
5 3. will be emailed
& 4. will emailing

Option 2 ID

Option 4 ID

Question Type :
Question ID :
Option 11D :

MCQ
630680270756
6306801052213

: 6306801052210
Option 31D :

6306801052211

1 6306801052212
Status :
Chosen Option :
Marks :

Answered
2
2




Q.6 Select the most appropriately punctuated option to complete the following sentence.

The shepherd, finding his flock destroyed, exclaimed,
Ans X 1. "I have been rightly served, why did | trust my sheep to a wolf!!”
/X 2.1 have been rightly served; why did | trust my Sheep to a Wolf.
& 3.1 have been rightly served- why did | trust my sheep to a wolf?

& 4. " have been rightly served. Why did | trust my sheep to a wolf?”

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

McQ
630680252878
630680981493
630680981494
630680981491
630680981492
Answered

4

2

Q.7 Select the most appropriate synonym of the given word.
Sympathy

& 1. Curiosity

/< 2. Discord

X 3.Disdain

o 4. Affinity

Ans

Question Type :
Question ID :
Option 11D :

Option 2 ID

Option 4 ID

McQ
630680274321
6306801065797

: 6306801065795
Option 31D :

6306801065796

1 6306801065798
Status :
Chosen Option :
Marks :

Answered
4
2

Q.8 Select the most appropriate ANTONYM of the given word.

Cruel
X 1. Visible

& 2. Eminent

Ans

/X 3. Destructive

¥ 4. Compassionate

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

MCQ
630680274586
6306801066856
6306801066857
6306801066855
6306801066858
Answered

4

2




Q.9 Select the most appropriate meaning of the given idiom.

Strike up a friendship
Ans 4 1. To become friends

/X 2. To miss an opportunity
& 3. To make someone extremely angry

/X 4. To undertake a risky or dangerous task

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

McQ
630680274578
6306801066826
6306801066823
6306801066825
6306801066824
Answered

3

0

Q.10 Select the most appropriate ANTONYM of the given word.

Discretion
Ans X 1.Courage

&¥ 2. Stupidity
X 3. Obedience
/< 4. Harmony

Question Type :
Question ID :
Option 11D :

Option 2 ID

Option 4 ID

McQ
630680274589
6306801066868

: 6306801066869
Option 31D :

6306801066870

1 6306801066867
Status :
Chosen Option :
Marks :

Answered
4
0

Q.11 Select the option that expresses the given sentence in active voice.

The task will be finished by Radha in a fortnight.
Ans X 1.Radha will be finishing the task in a fortnight.

% 2. Radha will finish the task in a fortnight.
/< 3. Radha will have finished the task in a fortnight.
X 4. Radha will be finish the task in a fortnight.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
Chosen Option :
12

Marks

MCQ
630680270766
6306801052251
6306801052252
6306801052253
6306801052250
Answered

2




Q.12 The following sentence has been split into four segments. Identify the segment that
contains an error.

Bill was very young / when they left, / and he could no longer remember / live in the house.

Ans X 1.and he could no longer remember
X 2. when they left
& 3. live in the house

/< 4. Bill was very young

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

MCQ
630680252899
630680981578
630680981575
630680981576
630680981577
Answered

3

2

Q.13 Select the most appropriate meaning of the given proverb.

Avarice is the root of all evils

Ans X 1.Unemployment has forced youth to follow the wrong path.
/X 2. Dishonesty is the root cause of corruption.

/X 3. The desire to progress in life is the root cause of unsatisfaction.

& 4. The desire to obtain and amass it is the reason human do evil things to one another.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

MCQ
630680274308
6306801065746
6306801065745
6306801065744
6306801065743
Answered

4

2

Q.14 Select the most appropriate option to fill in the blank.

This is __ best book on English grammar.

X 1.an
o 2. the
X 3.a

& 4. No article required

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

MCQ
630680270783
6306801052319
6306801052320
6306801052318
6306801052321
Answered

2

2




Q.15 Select the option that expresses the given sentence in active voice.
This building was designed by one of the best architects of those times.

Ans & 1. One of the best architects of those times designed this building.
X 2. The best building of those times was designed by one of the architects.
/5 3. This architect was designed for one of the best buildings of those times.

/X 4. One the best buildings of those times was designed by this architect.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680280574
6306801090534
6306801090532
6306801090531
6306801090533
Answered

1

2

Q.16 The given sentence may have an error. Select the option that expresses the sentence
correctly in its past tense. Select the option ‘No error identified’ if there is none.

I hoped for a relaxed day, but my cousin and her five children were arriving unexpectedly.

Ans X 1.No error identified
/X 2.1had hoped for a relax day, but my cousin and her five children arrive unexpectedly
& 3. | had hoped for a relaxing day, but my cousin and her five children arrived
unexpectedly
X 4.1 will have hoped for a relaxing day, but my cousin and her five children arrived
unexpectedly.
Question Type : MCQ
Question ID : 630680252880
Option 11D : 630680981502
Option 2 ID : 630680981501
Option 31D : 630680981500
Option 4 1D : 630680981499
Status : Answered
Chosen Option: 3
Marks : 2
Q.17 Complete the following conversation using a negative question tag from the following
options.
A: Can you show me where his department is?
B: Why?
Ans & 1. Haven't you been there before?
X 2. You went there before?
/5 3. Did you go there before?
/5 4. Shall we go there?
Question Type : MCQ
Question ID : 630680274712
Option 11D : 6306801067359
Option 21D : 6306801067360
Option 31D : 6306801067361
Option 41D : 6306801067362
Status : Answered
Chosen Option: 1
Marks : 2




Q.18 Select the most appropriate verbs to fill in the blank.

Even though it
with the concert.

continuously since last night, Mira still wants to

Ans & 1. has been raining; carry on
/X 2. raining; carrying on
X 3. was raining; carrying on

/5 4. has had rain; carrying on

Question Type : MCQ
Question ID : 630680270807
Option 11D : 6306801052415
Option 2 1D : 6306801052417
Option 31D : 6306801052414
Option 4 1D : 6306801052416
Status : Answered
Chosen Option: 1
Marks : 2
Q.19 Select the most appropriate question tag to fill in the blank.
He dares to meet the Principal,
Ans X 1.darent he?
K 2.isn'tit?
#* 3. doesn't he?
X 4.don't he?
Question Type : MCQ
Question ID : 630680252084
Option 11D : 630680978317
Option 21D : 630680978316
Option 31D : 630680978318
Option 41D : 630680978315
Status : Answered
Chosen Option : 3
Marks : 2
Q.20 Select the INCORRECTLY spelt word in the given sentence.
Growth in any business depends upon flexibility, adaptability and ettiquete awareness,
which help in developing interpersonal relations with customers.
Ans X 1. flexibility
o 2. ettiquete
< 3. adaptability
/< 4. interpersonal
Question Type : MCQ
Question ID : 630680274280
Option 11D : 6306801065631
Option 21D : 6306801065633
Option 31D : 6306801065632
Option 4 1D : 6306801065634
Status : Answered
Chosen Option : 2
Marks : 2




Q.21 Select the most appropriate option to fill in the blank.
I have a toothache, so I can't eat .

Ans X 1.real things
X 2. something

/X 3.things
& 4. anything
Question Type : MCQ
Question ID : 630680280583
Option 11D : 6306801090569
Option 21D : 6306801090568
Option 31D : 6306801090570
Option 41D : 6306801090567
Status : Answered
Chosen Option : 4
Marks : 2
Q.22 Parts of the following sentence have been given as options. Select the option that contains
an error.
He is famous of his exceptional talent at playing multiple instruments.
Ans X 1. multiple instruments
& 2. of his exceptional talent
X 3. at playing
& 4. Heis famous
Question Type : MCQ
Question ID : 630680277927
Option 11D : 6306801080068
Option 2 1D : 6306801080066
Option 31D : 6306801080067
Option 4 1D : 6306801080065
Status : Answered
Chosen Option : 2
Marks : 2
Q.23 Select the most appropriate meaning of the given phrase.
Crowning glory
Ans X 1. Making the crown beautiful and showy
/X 2. Protecting the glory of the crown
X 3. Wearing crown adds beauty to your appearance
& 4. The greatest and outstanding achievement
Question Type : MCQ
Question ID : 630680274284
Option 11D : 6306801065648
Option 2 1D : 6306801065649
Option 31D : 6306801065650
Option 4 1D : 6306801065647
Status : Answered
Chosen Option : 4
Marks : 2




Q.24 Select the most appropriate option to fill in the blank.

Although he has been singing for ages, it will be the first time he has appeared ___ the

Opera House.
Ans X 1.from

o 2. at
X 3.0n
X 4.in
Question Type : MCQ
Question ID : 630680252890
Option 11D : 630680981540
Option 2 ID : 630680981541
Option 31D : 630680981539
Option 41D : 630680981542
Status : Answered
Chosen Option : 2
Marks : 2
Q.25 Select the INCORRECTLY spelt word in the following sentence.
He was a faithful friend and remarkable for his punctell attendance.
Ans " 1. punctell
/< 2. remarkable
/X 3. attendance
X 4. faithful
Question Type : MCQ
Question ID : 630680252907
Option 11D : 630680981608
Option 21D : 630680981609
Option 31D : 630680981610
Option 41D : 630680981607
Status : Answered
Chosen Option: 1
Marks : 2
Section : General Knowledge
Q.1 weidMsdgadiadia____ = dfaas sa.
Ans X 1. e
o 2. pRIS
X 3. e
X 4. 7gR
Question Type : MCQ
Question ID : 630680270011
Option 11D : 6306801049298
Option 21D : 6306801049295
Option 31D : 6306801049296
Option 41D : 6306801049297
Status : Answered

Chosen Option :
:0

Marks

4




Q.2 ‘if3ar fegmads (1946) A das @refierdd Hior smga?

Ans X 1.4 3R, sriasR
W 2. TSiE T
X 3. STt 5w
X 4 gaforf amg

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680275704
6306801071329
6306801071327
6306801071330
6306801071328
Answered

1

0

Q.3 yFEETA T wdfiadd arained Ry durR Sifiae @ wrarde @reieddt S

AT 3MMa?
Ans X 1. STEUTEE UeeT
o 2. TS
X 3. Rahm
X 4. fgemee ndr

Question Type :
1 630680275426
Option 11D :
Option 21D :
Option 31D :
: 6306801070215

Status :
Chosen Option :

Marks :

Question ID

Option 4 ID

MCQ

6306801070218
6306801070217
6306801070216

Answered
2
2

Q.4 I 3mu=h fAERYT &1 (NDRF) ZR 2022 =T o=t fAaror emdr ardiean arftfes aRwe=

STAIST SHRUATd 3T gia. 4 Reefimefia s wa=ma =i, degt @refterd<h stor g o argot

U a2 ufRya gia?
Ans o 1. 31faa <rEr

X 2.3y g
X 3. dludr g,
X4 T A

Question Type :
1 630680275428
Option 11D :

Question ID

Option 2 ID

Option 4 ID

MCQ

6306801070224

: 6306801070226
Option 31D :

6306801070225

: 6306801070223
Status :
Chosen Option :
Marks :

Answered
1
2




Q.5 R AgifAsith (RGI) iwar AT Aieoft yorelt (SRS) uRuTRIHR, Wa wRade i
g & (IMR) g1 2015 #8 ufer 1000 fSda S=AiHTT 37 Feeht ghar, af 2019 wed ufa 1000 ™Haa

_____ SAhI SHHT AT,
Ans X 1.32
W 2.30
X 3.31
X 4.33
Question Type : MCQ
Question ID : 630680275462
Option 11D : 6306801070360
Option 21D : 6306801070362
Option 31D : 6306801070361
Option 41D : 6306801070359
Status : Answered
Chosen Option : 1
Marks : 0
Q.6 WciieTtich! FIUTR ‘TiTTe HIFRRIA FUH HidEad wa?
Ans X 1. 3IeU-gT ST i
o 2. I=-EAT SrEle i
X 3. crafiereRiss
X 4. 3T-5TaT ST foraiiée
Question Type : MCQ
Question ID : 630680270005
Option 11D : 6306801049273
Option 21D : 6306801049272
Option 31D : 6306801049274
Option 41D : 6306801049271
Status : Answered
Chosen Option : 2
Marks : 2
Q.7 uUTHAT A de1 g (PMMVY') sienfa, |rar onfor arer siRianeft w@efde fafae
HTaT (PW&LM) =1 dfeh/oie siffha @reara 3 3 vieugH de s =ima.
Ans X 1.%20,000
X 2.%15,000
/X 3.%10,000
¥ 4.35,000
Question Type : MCQ
Question ID : 630680275478
Option 11D : 6306801070424
Option 21D : 6306801070423
Option 31D : 6306801070426
Option 41D : 6306801070425
Status : Answered
Chosen Option : 4
Marks : 2




Q.8 w@refierdhl wivft Saer=aia wradefR gah dieimed Tafed HRoarETs) AT s T (g

ufecies QIATTE) RATU Shell?
Ans X 1. 33Rdg fQemamR
o 2. TETed T TS
X 3. g SRt
X 4. 97 TR e

Question Type

Option 3 ID

Status

: MCQ
Question ID :
Option 11D :
Option 21D :

630680275823
6306801071806
6306801071803

: 6306801071804
Option 41D :

6306801071805

: Answered
Chosen Option :
Marks :

2
2

Q.9 ArRerea #fAfATH, 1955 =T &herw 5(1) Siarfa
SITS: QTehd.

Ans X 1. dRMORORT
K 2.5
X 3. TR
o 4. Aieoft

ZR YR ARTRRe uTe het

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

Marks

McQ
630680276541
6306801074660
6306801074659
6306801074662
6306801074661

: Answered
Chosen Option :
:0

2

Q.10 @refierdehr Fioft Sfrgmatt (EPFO) weaiamd) §-urdges e dhel?
Ans X 1. GoIgIoaH SRieR

X 2. [ TERd

X 3. T&Rig W

o 4. ydc arca

Question Type :
Question ID :
Option 11D :

Option 2 ID

Option 4 ID

McQ
630680269951
6306801049055

: 6306801049056
Option 31D :

6306801049058

: 6306801049057
Status :
Chosen Option :
Marks :

Answered
1
0




Q.11 WRATEAT 2011 24T STURTUFTHR, IO haeni&d US2maT HIgRdT & Jafd ot omg?

Ans X 1.cHOT 3fOr &g
X 2. qg=r
X 3. e
o 4. TTERT SNIOT TR et
Question Type : MCQ
Question ID : 630680275803
Option 11D : 6306801071723
Option 21D : 6306801071724
Option 31D : 6306801071726
Option 41D : 6306801071725
Status : Answered
Chosen Option : 2
Marks : 0
Q.12 1889 #ed Ufadr TS Fi-il shivreat fArF=i Rura=T Shell gidi?
Ans X 1. <Rt fAsE
o 2. T A
X 3. A A
X 4 gh e
Question Type : MCQ
Question ID : 630680287112
Option 11D : 6306801116358
Option 21D : 6306801116355
Option 31D : 6306801116357
Option 41D : 6306801116356
Status : Answered
Chosen Option : 2
Marks : 2
Q.13 LED & =Te] RuaTardl @Id Henfotd shetedl soagigaa il soiagiciise TgUH Tear=al qroaran
ATUR SHRUTAT WRATAT UfgedT @r=aT uroareat feears 3rarur Shivft dhet?
Ans X 1. g 5 sifia 2mg
X 2. g el SR SR
X 3. &g meft oty g
o 4. s w81, fSids R
Question Type : MCQ
Question ID : 630680269934
Option 11D : 6306801048987
Option 21D : 6306801048990
Option 31D : 6306801048989
Option 41D : 6306801048988
Status : Answered
Chosen Option : 2
Marks : 0




Q.14 R TaHedIe aRgdlaads @refierdedt wior o gha oma?

Ans X 1. &g OEg i Ty Rerree § arad! gamie g o] e ehdT.

X 2. 1950 =a1 SfAYTATA BT AR Shefedi@ BIOTde! ATET g,

& 3. TSggcH=T ufgedT SIgeeald 39 TG chel SMTg hl VR &1 IsdrdT 9 3178,

o 4. TTTTEsle a<d T SR SMIfOT Heeyd SRR =T ATgha.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
12

Marks

MCQ
630680276520
6306801074578
6306801074576
6306801074577
6306801074575
Answered

4

Q.15 @refierd<hl shivr g THTeR W A4 gla?

Ans X 1.3 sidseR, AETe Got STIfoT ARAR
o 2. 7. S TS, IR, St WisRaR oy g, Sft. deraraw
X 3. iefsh, dfed e onfol IeR wed
X 4. HeTTT S1TeTe, Y. SeFTe ST TR TS STgHS @

Question Type :
: 630680275177
Option 11D :

Question ID

Option 2 ID

MCQ

6306801069220

: 6306801069219
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

6306801069221
6306801069222
Answered

2

2

Q.16 ATH & @refterd<hl shivraT & Iu=eY ama?
Ans X 1.9gFE

X 2. quer

¥ 3. STRTG

X 4. ek

Question Type :
Question ID :

: 6306801071608
Option 21D :
: 6306801071607
Option 41D :
Status:

Chosen Option :
Marks :

Option 11D

Option 3 ID

MCQ
630680275774

6306801071610

6306801071609
Answered

3

2




Q17 #3171 g3 3@,
Ans X 1.\ g ifafaam, 1993

X 2. mfeet dsam arfafaem, 2000
X 3. ufefimm sifafem, 2002
o 4. Fifedl siffieR srffram, 2005

Marks

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
12

MCQ
630680275211
6306801069358
6306801069355
6306801069356
6306801069357
Answered

4

Q.18 TEE-TAT USRTHT GITY IThR WleileTtech! hI0TAT TR?
Ans X 1.9R9

o 2. Bremoft

X 3. 3@HR
X 4. v

Question ID

Option 2 ID

Question Type :
1 630680270171
Option 11D :

MCQ

6306801049935

: 6306801049936
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

6306801049937
6306801049938
Answered

2

2

Q.19 wrd 1784 Aed fdier Swe $f2ar Su-ia wionaa=a s dgar w@ert seed ga=ar sirl-
TR gt ST heft?
Ans X 1.8 3t
X 2. fRrgeler
X 3. a1 areft emg

o 4. RY g

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

MCQ
630680275809
6306801071747
6306801071749
6306801071748
6306801071750
Answered

4

2




Q.20 29 WRd (¥ 3w §f2an) dur 2022-23 = seroft grdht fSiewett. & githt @refterdeht storar

Sosreft Gafda ameg?
Ans o 1. fohdhe
X 2. Gedrda
X 3. grdhr
X 4. defieT
Question Type : MCQ
Question ID : 630680269898
Option 11D : 6306801048843
Option 2 1D : 6306801048844
Option 31D : 6306801048845
Option 4 1D : 6306801048846
Status : Answered
Chosen Option: 3
Marks : 0
Q.21 FHRIYYRS Salfaer Gat arearfawdt @i o e .
1) =it 1873 A<l G2t THTSIT TATYAT hefl.
?) ‘TSt e o’ enfor s & saifaen gt aiht w enmg.
Ans X 1.%® 1
X 2.1 anfor 2 <
o 3.1 fohar 2 TRt gere! ATe
X 4. Hh2
Question Type : MCQ
Question ID : 630680275825
Option 11D : 6306801071811
Option 21D : 6306801071813
Option 31D : 6306801071814
Option 41D : 6306801071812
Status : Answered
Chosen Option : 2
Marks : 0
Q.22 gyt g Tafgeh i1 UET 2Ty 4T,
Ans X 1. gEest
X 2. gt dfede w:ft
o 3. 0= ATfeedt 3mgh (CIC)
X 4. Hdtema (CBI) @
Question Type : MCQ
Question ID : 630680275196
Option 11D : 6306801069296
Option 21D : 6306801069297
Option 3 1D : 6306801069295
Option 4 1D : 6306801069298
Status : Answered
Chosen Option: 3
Marks : 2




Q.23 fa=ist 10 g feisisr=an wivrar hiaeidie smg?

Ans X 1.fdgTAP
X 2. fasis 7x
X 3. 38T NET
o 4. FASISTNT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

MCQ
630680275386
6306801070055
6306801070058
6306801070057
6306801070056
Answered

3

0

Q.24 TRIVTAT AN gah g1 ATdui-eh ASHTRTAT stad e of fohar demear snumRe wivrengdt veran

A HTaTeT faee &Rdl?
Ans X 1. 3=a 17
o 2. 3T 16(2)
X 3. 81 7=3¢ 15(2)
X 4. =52 18(2)
Question Type : MCQ
Question ID : 630680276531
Option 11D : 6306801074621
Option 21D : 6306801074620
Option 31D : 6306801074619
Option 41D : 6306801074622
Status : Answered
Chosen Option : 2
Marks : 2
Q.25 VRER UehIMT=AT HUehid 3T, gRegearam (chlorophyll) I-mafAes Tra< srashaoT
(degrades) g, d<gT @1 3T TUTETd.
Ans o 1. TrRTrSiTfaRIS (photooxidation)
X 2. yaifta 494 (photorespiration)
X 3. UIRIIERRE (photophosphorylation)
X 4. yaRrRr-a1geed (photolysis)
Question Type : MCQ
Question ID : 630680270029
Option 11D : 6306801049367
Option 21D : 6306801049370
Option 31D : 6306801049368
Option 41D : 6306801049369
Status : Answered
Chosen Option : 4
Marks : 0

Section : General Intelligence




Q.1 @refter mifodka wsfagren (?) srft ada sift e Rewar vafaiqa Raet.
23, 26, 31, 38, 49, ?

X 1.64

X 2.6

o 3.62

X 4.67

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

MCQ
630680271182
6306801053802
6306801053803
6306801053800
6306801053801
Answered

1

1]

Q.2 45.5 /e AT 5 SATHEY THTH THIUNT WRIT TR, U SR WRedT SITOm=aT aere

vHToT fohReft 3mmd?
Ans X 1.87I
w2911
X 3.811
X 4.971
Question Type : MCQ
Question ID : 630680277202
Option 11D : 6306801077283
Option 21D : 6306801077282
Option 31D : 6306801077281
Option 41D : 6306801077284
Status : Answered
Chosen Option : 2
Marks : 2
Q.3 RT FHATTE Yuifehi=it TR 36 SM@. a1 13 yurferidh Hafa e guiferrear gwdier ar 13
guiferidh Fafa dtear guifera Reasars 3w foadt ada?
Ans o 1.102
X 2.121
X 3.115
X 4.110
Question Type : MCQ
Question ID : 630680280399
Option 11D : 6306801089838
Option 2 1D : 6306801089835
Option 31D : 6306801089836
Option 4 1D : 6306801089837
Status : Answered

Chosen Option :
Marks :

1
2




Q.4

Ans

Reteht fream anfor e wargedes aran. Ree Rram s sm=e: aa aeaif R aea
St A <t T mRd o1t grETe TR R org. Rwar Frsrufadt wvrar/a e
e frur=isht adhea smd/sngd @ greTen svar IR,

faema : o 32m, desfie onmdq. wrdl dsfie, us? snda. Uwhdl user, earsi ArE.
frenef (1): w1t aRaTS, Sesfie oy 2reRaTa.
fArsene (1l): gengt 32ft, Z=ars ardl.

& 1. fosene | ooy |1 @ alvel I sTmed.

o 2. Beh Ry | 9 3.

X 3. ek ey || T amg.
X 4. fsepy | fohar feem |1 <kt yerg! T e,

Question Type : MCQ
Question ID : 630680271391
Option 11D : 6306801054638
Option 21D : 6306801054636
Option 31D : 6306801054637
Option 41D : 6306801054639
Status : Answered
Chosen Option: 1
Marks : 0
Q.5 feeh R snfor e wargden aran. Retsft fum™ s ar=ae: Fa quwih e aea
3t A T MR &t grETe YA R SR, Rear frsrufadt wurar/a s
Retean Rrurish adema smg/endd & e svaa g,
fArsene (1): Tengl UTeRest, IRT ATEL.
fAseref (11): Qerg) T, 3Ime AT,
Ans o 1. s | fofa Freen 11 Okt Gerg! I g
25 2. fasend | anifor |1 8 36 I armea.
X 3. <k [y || I oTR.
X 4. e ey | g oTg.
Question Type : MCQ
Question ID : 630680271400
Option 11D : 6306801054675
Option 21D : 6306801054674
Option 31D : 6306801054673
Option 41D : 6306801054672
Status : Answered
Chosen Option : 2
Marks : 0




Q.6 YT AT WRAIT Yehl S0 ot 12.650 kg 34Tg. ForaT Aaamt awi= 9 kg 800 gm SEwTH,

Repra s=ame Tamefier aor= mten.
Ans X 1.2725gm
X 2.2825gm
¥ 3.2850 gm
& 4.2750 gm
Question Type : MCQ
Question ID : 630680277196
Option 11D : 6306801077257
Option 21D : 6306801077259
Option 31D : 6306801077260
Option 4 1D : 6306801077258
Status : Answered
Chosen Option: 3
Marks : 2
Q.7 U &=k 62.4 km/h 3R TS Tretaal. at 10 AfReia fadt fieR siar uR =al?
Ans X 1.12,480
w* 2.10,400
X 3.6,240
& 4.5,200
Question Type : MCQ
Question ID : 630680279351
Option 11D : 6306801085674
Option 21D : 6306801085673
Option 31D : 6306801085672
Option 4 ID : 6306801085671
Status : Answered
Chosen Option : 2
Marks : 2
Q.8 deam
-15+24 + (15 - 13).
Ans X 1.3
2 -3
X 3.-6
X 4.6
Question Type : MCQ
Question ID : 630680280395
Option 11D : 6306801089821
Option 2 1D : 6306801089822
Option 3 1D : 6306801089820
Option 4 1D : 6306801089819
Status : Answered
Chosen Option : 2
Marks : 2




Q.9 Wrehier Arferha wsifRgren (?) sift &r emet uifgsi?
42, 56, 84, 126, ?, 252

Ans X 1.210
#2182
& 3.238
& 4.154
Question Type : MCQ
Question ID : 630680273922
Option 11D : 6306801064209
Option 21D : 6306801064208
Option 31D : 6306801064210
Option 4 1D : 6306801064207
Status : Answered
Chosen Option : 2
Marks : 2
Q.10 a1 uehR RAwar Fardie sieR-Tig Hdfda mad, @ra UeR Hefdd ieR-Tg sraeen 99
[ECE
El-GD-FJ
Ans X 1.PT-RO-QV
& 2.NR-PM-0T
X 3.LP-NK-MR
¥ 4. UN-LI-KO
Question Type : MCQ
Question ID : 630680257457
Option 11D : 630680999734
Option 21D : 630680999731
Option 3 1D : 630680999733
Option 41D : 630680999732
Status : Answered
Chosen Option : 1
Marks : 0
Q.11 SR'A gUrSl ‘+, ‘B’ TgUIS! ‘-, ‘C’ TgUrst ‘%’ 3M1f0Y ‘D’ 3gurst '+’ 3@, R Wiefiel GHieniurda
usifRgren (?) sinft r ada?
6B18D2A7C3="7
Ans X 1.17
f 2.18
X 3.15
X 4.20
Question Type : MCQ
Question ID : 630680271193
Option 11D : 6306801053846
Option 2 1D : 6306801053844
Option 31D : 6306801053845
Option 41D : 6306801053847
Status : Answered
Chosen Option : 2
Marks : 2




Q.12 31gR, T, R g Rdear arfedan d@gaf e enfor gdie wema swr e

EEFHE@Y7MAZ5%A9+86S*P3F#X (Iura)

3121 foret T amda, Sai=aT arasdata aneft gen g e enfor arasdald siar Ue eieR &l

g?
Ans X 1.1
w20
X 3.3
X 4.2
Question Type : MCQ
Question ID : 630680256951
Option 11D : 630680997716
Option 21D : 630680997715
Option 31D : 630680997718
Option 41D : 630680997717
Status : Answered
Chosen Option : 2
Marks : 2
Q.13 gushl quinTamRaTeR snuReedn, Rewar mfcdha wsiR=gren (?) smft &g e ufgst?
KAM, QDO, WGQ, CJS, ?
Ans X 1.JNV
W 2. IMU
X 3.KNU
X 4. IMT
Question Type : MCQ
Question ID : 630680271371
Option 11D : 6306801054557
Option 21D : 6306801054556
Option 31D : 6306801054559
Option 41D : 6306801054558
Status : Answered
Chosen Option : 2
Marks : 2
Q.14 afifer smeRoftean aredia, aeaTe @TeT Teh e 5 auid @a:=1 gue gia. ot &= 3
U< IR IaTETST AINTOTRT ehretrasdt foret er@der?
Ans X 1.10ad
X 2,129
X 3.20a9
o 4.15T%
Question Type : MCQ
Question ID : 630680277351
Option 11D : 6306801077853
Option 21D : 6306801077854
Option 31D : 6306801077856
Option 41D : 6306801077855
Status : Answered
Chosen Option : 4
Marks : 2




Q.15 Qeh T<h! 25% TR Qe avq, faehal. SR @™ Y 20% &+t R faera daeft st snifor £10.50

FHt e farheft sreft, AR AT 30% THRT SATAT AT, T A% ges e anter.

Ans X 1.3125
X 2.3100
X 3.325

# 4.350

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680277328
6306801077764
6306801077763
6306801077761
6306801077762
Answered

1

0

Q.16 a1 WehR Reiwa HaTdie s1aR-9qg Hafdd simad, =g IR Haifdd HeR-Wg e 69

A=t
DG-EH-JL

Ans X 1.IL-JM-OP
o 2. JM-KN-PR
X 3.PS-QT-VY
X 4.L0-MP-RS

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680257454
630680999721
630680999722
630680999719
630680999720
Answered

1

0

Q.17 ek SATIR ATSAT ATATAT 5 fehwei=ar 20% S fR=gifehe sal snifor @mar 15% e at. @rht

TR Tahardt .
Ans X 1.4%
X 2.1%
% 3.3%
W 4. 2%

Question Type :
Question ID :
Option 11D :

1 6306801077661

Option 31D :

Option 2 ID

Option 4 ID

MCQ
630680277303
6306801077664

6306801077663

1 6306801077662
Status :
Chosen Option :
Marks :

Answered
4
2




Q.18 Qe Tifei¥ &1 500 Hiex SiaRTae Gehl TRTAT UTgal. GO UrsenT ¥ chedTar, IRgl U
ATTEY. SR IR 6T 10 km/h 3mg 3for gifeaman 3 12 km/h 811, @R IR 81 Uehed siroangdf

foreht siaR umaer srder?

Ans X 1.1km
X 2.1.5km
X 3.2km
& 4.2.5km

Question Type :
Question ID :

Option 11D

Option 3 ID

McQ
630680279374

: 6306801085763
Option 21D :

6306801085764

: 6306801085765
Option 41D :
Status:

Chosen Option :
Marks :

6306801085766
Answered

4

2

Q.19 a1fifer 5% =ATeTe’™ 2,100 AT THAR 525 T WSS ASUATATS! ARTOTRT Shrera fneft

Tg?
Ans X 1.3a%

W 2.5
K 36ad
X 4.8a%

Question Type

Option 11D

Option 3 ID

: MCQ
Question ID :
1 6306801077789
Option 21D :
1 6306801077791
Option 41D :
Status :

Chosen Option :
Marks :

630680277335

6306801077790

6306801077792
Answered

2

2

Q.20 TUfFATIHR IR 31&R-Tyg R smad @it = fAfdre ver Tar smga snfor ge Jvrert ame.

AT A 31eR-THg Fger.

Ans X 1.CGJ

X 2.EL
o 3.0SU

& 4.MQT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
Chosen Option :
Marks :

MCQ
630680272801
6306801059764
6306801059763
6306801059766
6306801059765
Answered

3

2




Q.21 &I dlear STFehR# 10 AT STor 8 ATHid Qeh €reht W% 2repaTd. faet @t} faem 15 araia Remd

e 2Ahd. T T dledr YUt Iuseard, Rerdt arehY wRrae fordt 9 arte?

ans X 1.7 TG
13
2. 6 —=dlH
x 19
X3 6d¥
6 6 arg
4 19
Question Type : MCQ
Question ID : 630680279400
Option 11D : 6306801085870
Option 21D : 6306801085869
Option 31D : 6306801085867
Option 4 1D : 6306801085868
Status : Answered
Chosen Option : 4
Marks : 2
Q.22 Eusit guinTaTRATER snuReedn, Rewar mifedha usiR=gren (?) sinft &g e urfgst?
PDS, OFV, NHY, MJB, ?
Ans X 1.NMF
X 2. MMF
X 3.MNE
f 4. LLE
Question Type : MCQ
Question ID : 630680271352
Option 11D : 6306801054483
Option 21D : 6306801054481
Option 3 1D : 6306801054480
Option 41D : 6306801054482
Status : Answered
Chosen Option : 4
Marks : 2
Q.23 SR YehT=AT Yehl THTE Hfka hetedr 9 sitcbiaed 36 2reg S1eelie, R 51 3} SrTeiedn T
forelt areg srrefter?
Ans X 1.196
W 2.204
X 3.208
X 4.192
Question Type : MCQ
Question ID : 630680279387
Option 11D : 6306801085816
Option 21D : 6306801085817
Option 31D : 6306801085818
Option 4 1D : 6306801085815
Status : Answered
Chosen Option : 2
Marks : 2




Q.24 e ArfereT adhgeaT gof gvarard! ? = smft s sie urfas?

IM19 JN22 KO28 LP37 ?
Ans X 1.MQ47
X 2.LP49
& 3. MQ49
X 4.LP47
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

MCQ
630680271423
6306801054766
6306801054765
6306801054764
6306801054767
Answered

3

2

Q.25 @i aRAR = gept fafre a2+ Tw s SnfoY U & Uk e aUR SRdTd. &1 e |7
TRt gafg A

Ans " 1.TPN
&< 2.MIF
& 3.NJG
X 4.2vs

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

MCQ
630680256959
630680997749
630680997750
630680997747
630680997748
Answered

1

2




